												T							
						GHWAYS AUT								1	ı	ı	1		
	ANNUAL	ASSET DISPOS	SAL PLAN FO	OR THE FY 2024-2025	LIST OF	THE ITEMS TO	BE OFFI	ERED FOR AUC	TION -SALES Valuation/	CATALOGUE									
Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs		Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
	Head Office													Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church, Opposite Laptrust Fund Garden.					
Lot 1	Desks and Table			KeNHA/1040101/00/0								Public							
1.1	Sorting Desk Executive Desk (with	Office Furniture		023 KeNHA/1040101/00/0	Each	Not Verified	1	18,000.00	1,500.00	-	Impaired	Auction Public	Women	-					
1.2	side return) 1.6M	Office Furniture	HQ- Admin	422	Each	Not Verified	1	50,000.00	2,500.00	2,500.00	Impaired	Auction	Women						
1.3	Office Executive Desk 1800*900*760	Office Furniture	HQ- Admin	KeNHA/1040101/00/1 037	Each	Not Verified	1	48,900.00	2,000.00		Impaired	Public Auction	Women	=					
Lot 2	Mid Back and Visitors Chairs									6,000.00				-					
2.1	Visitors Chairs	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 354	Each	Not Verified	1	10,000.00	200.00	200.00	Impaired	Public Auction	Youth						
2.2	Visitors Chairs	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 434	Each	Not Verified	1	10,000.00	200.00	200.00	Impaired	Public Auction	Youth						
2.3	Executive Chairs Low back	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 443	Each	Not Verified	1	15,299.99	200.00	200.00	Impaired	Public Auction	Youth						
2.4	Cantilever Leather Black Executive chairs leather (SL-605-04 BK)	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 722	Each	Not Verified	1	12,000.00	500.00	500.00	Impaired	Public Auction	Youth						
2.5	High back Leather Black chairs SL-605-01 BK	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 789		Not Verified	1	13,000.00	200.00	200.00	Impaired	Public Auction	Youth						
2.6	Active mud back seats black	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 342		Not Verified	1	16,850.00	200.00	200.00	Impaired	Public Auction	Youth						
2.7	Chair active mid back office chair	Office Furniture	HQ- Admin	KeNHA/1040101/00/0 942	Each	Not Verified	1	14,950.00	200.00	200.00	Impaired	Public Auction	Youth						
2.8	Orthopaedic Chair	Office Furniture	HQ- Admin	KeNHA/1040101/00/1 275	Each	Not Verified	1	28,500.00	1,500.00	1,500.00	Impaired	Public Auction	Youth						
2.9	Orthopaedic Chair	Office Furniture	HQ- Admin	KeNHA/1040101/00/1 276	Each	Not Verified	1	28,500.00	1,500.00	1,500.00	Impaired	Public Auction	Youth					_	
2.1	Delight Leather High Back Chair	Office Furniture	HQ- Admin	KeNHA/1040101/00/1 369	Each	Not Verified	1	43,400.00	2,000.00		Impaired	Public Auction	Youth						
Lot 3	Tyres and Batteries									6,700.00				-					
3.1	Used TYRES	Motor Vehicles	HQ- Admin	KeNHA/1040101/00/1	Lots	Not Verified	60	Unkown	100.00	6.000 00	Impaired	Public	All	1					
3.2	Used Batteries	Accessories Motor Vehicles	HQ- Admin	370 KeNHA/1040101/00/1	Each	Not Verified	5	Unkown	200.00		Impaired	Auction	All						
		Accessories	-	371			1		-	7,000.00		Auction		1					
										•									
		1		I	<u> </u>	_1	1				1			1	1		1		

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
	ICT - Head Office													Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church, Opposite Laptrust Fund Garden.					
Lot 4	Central processing Unit																		
41	HP 290G2	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 556	Each	8CG915BOJ9	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
4.2	HP compaq pro	ICT Equipment(ICT	HQ- ICT	N/A	Each	CZC00637VK	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
43	HP compaq pro	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/2 20	Each	CZC0143GM6	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
4.4	HP compaq pro	ICT Equipment(ICT	HQ- ICT	N/A	Each	CZC3493KGJ	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
45	HP 400G4	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 554	Each	8CG915B0H7	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
4.6	HP prodesk 600G2	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 259	Each	CZC63071RV	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
47	HP prodesk 6300pro	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/0 279	Each	CZC0063811	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
4.8	HP elite 8300 pro	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/0 903	Each	SGH312R496	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
49	HP prodesk 600G2	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 253	Each	CZC63071S3	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
4.10	HP compaq pro	ICT Equipment(ICT	HQ- ICT	N/A	Each	CZC014318S	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
411	HP PC1MT	ICT Equipment(ICT	HQ- ICT	N/A	Each	CZC3493KHB	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
412	HP compaq pro	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 059	Each	CZC3493KGY	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
413	HP Pavillion HPE	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/0 680	Each	CZC22517HK	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
414	ProDESK 400G4	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 433	Each	CNC7509R8G	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
														Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church,					
														Opposite Laptrust Fund Garden.					
415	HP 290G2	ICT Equipment(ICT)	HQ- ICT	KeNHA/1010101/00/1 583	Each	8CG915BOGR	1	Unknown	3,000.00	3,000.00	Faulty	Public Auction	All						
416	HP 290 G1	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 492	Each	4CE80660QBD	2	Unknown	3,000.00	6,000.00	Faulty	Public Auction	All						
417		ICT Equipment(ICT	HQ- ICT	N/A	Each	CZC3493KGM	3	Unknown	3,000.00	9,000.00	Faulty	Public Auction	All						
418	HP Compaq pro	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/0 901	Each	SGH312R40R	4	Unknown	3,000.00	12,000.00	Faulty	Public Auction	All						
419	HP 400G4	ICT Equipment(ICT	HQ- ICT	N/A	Each	SGH736Q5XY	5	Unknown	3,000.00	15,000.00	Faulty	Public Auction	All						
420	HP PCIMT	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 929	Each	4CE938169Z	6	Unknown	3,000.00	18,000.00	Faulty	Public Auction	All						
421	HP 290G2	ICT Equipment(ICT	HQ- ICT	KeNHA/1010101/00/1 595	Each	8CG915BOHX	7	Unknown	3,000.00	21,000.00	Faulty	Public Auction	All						
)								126,000.00									
Lot 5	PRINTERS Printer KYOCERA KM-	ICT										Public							
5.1	3060	Equipment(ICT)	HQ- ICT	N/A	Each	QBF0136455	1	Unknown	6,000.00	6,000.00	Faulty	Auction	All						
5.2	Printer Hp P2055D	ICT Equipment(ICT)	HQ- ICT	N/A	Each	CNCJZ25793	1	Unknown	1,500.00	1,500.00	Faulty	Public Auction	All						
5.3	Printer HP Laserjet pro	ICT	HQ- ICT	N/A	Each	CNF8F6Y6SK	1	Unknown	3,000.00	3,000.00	Faulty	Public	All						
5.4	400 Printer Hp M477FDN Laserjet pro 400	Equipment(ICT) ICT Equipment(ICT)	HQ- ICT	N/A	Each	VNB8K270M9	1	Unknown	3,000.00		Faulty	Auction Public Auction	All						
5.5	Printer Hp M475FDN	ICT	HQ- ICT	N/A	Each	CND8G4GG3	1	Unknown	1,500.00	1,500.00	Faulty	Public	All						
	Laserjet pro 400 Printer Hp M475FDN	Equipment(ICT) ICT				M CNIBSDO256C			· ·		-	Auction Public							
5.6	Laserjet pro 400 Printer Hp M475FDN	Equipment(ICT) ICT	HQ- ICT	N/A	Each	CNB8D93S6C	1	Unknown	1,500.00		Faulty	Auction Public	All						
5.7	Laserjet pro 400	Equipment(ICT)	HQ- ICT	N/A	Each	CND8F4M9QF	1	Unknown	1,500.00	1,500.00	Faulty	Auction	All						
										18,000.00		 			1				
	Lower Eastern Regional Office													MOR&PW Main Building ,Machakos Road, Industrial Area, Nairobi.					
Lot 6	Used Tyres	Motor Vehicles	Machakos							1117	nserviceab	Public		1	-				
6.1	Tyers	Accessories	Regional off	Not Tagged	Lot	N/A	20	Unknown	100.00	2,000.00 le	:	Auction	All						
Lot 7	Chairs]					

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	or disposar	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
7.1	Office Chairs	Office	Machakos	KeNHA/1040101/30/0	Each	Not Verified	1	5,500.00	800.00	800.00	unserviceab le	Public	All						
7.2	Office Chairs	Furniture Office Furniture	Regional off Machakos Regional off	KeNHA/1040101/30/0	Each	Not Verified	1	16,500.00	800.00	800.00		Auction Public Auction	All						
7.3	Office Chairs	Office	Machakos Regional off	KeNHA/1040101/30/0 082	Each	Not Verified	1	15,000.00	1,500.00	1,500.00	unserviceab	Public Auction	All						
7.4	Office Chairs	Furniture Office	Machakos	KeNHA/1040101/30/0	Each	Not Verified	1	15,000.00	800.00	800.00	unserviceab		All	:					
7.4	Office Chairs	Furniture	Regional off	069	Eacii	Not verified	1	15,000.00	800.00	5,900.00	le	Auction	All						
										3,900.00	/			-					
Lot 8	Printer																		
8.1	HP Laser Jet printer P2055d	ICT Equipment	Machakos Regional off	KeNHA/1010101/30/0 017	Each	CNCJH39534	1	Unknown	3,000.00	3,000.00	unserviceab le	Auction Auction	All	:					
Lot 9	Curtain office blinds													-					
9.1	Curtain office Blinds	Office Items	Machakos Regional off	Not tagged	Lot	Not serialized	20	Unknown	200.00	4,000.00	unserviceab le	Public Auction	All						
	Northe Eastern													KeNHA Central Region Offices Off Ruringu Stadium, along Classic Kiandu-					
Lot 10	Assorted office furniture	Office Furniture	North Eastern	Not Tagged	Lot	Not Verified	1	Unknown	500.00	500.00	unserviceab le	Public Auction	All	Othaya Road,Nyeri					
10.2	Metallic Office cabinets	Office Furniture	North Eastern	Not Tagged	Lot	Not Verified	1	Unknown	800.00	800.00	unserviceab	Public Auction	All						
										1,300.00	ic	Auction		-					
Lot 11	W-4 3:																		
11.1	Water dispenser Water dispenser	Office Equipment	North Eastern	KeNHA/1020103/40/0 035, KeNHA/1020103/40/0 037		04506/10134, BWD- HC1IR0620W0 0008	4	Unknown	800.00	3,200.00	Unserviceab le	Public Auction	All						
Lot 12	Printers																		
12.1	Printer HP color LaserJet	ICT Equipment	North Eastern	Not tagged	Each	CP5225	1	unknown	800.00	800.00	Faulty	Public Auction	All						
12.2	Panasonic printer	ICT Equipment	North Eastern	Not tagged	Each	KX-MB2085	1	unknown	800.00	800.00	•	Public Auction	All						
Lot 13	Scrap Metal									1,600.00				1					
13.1	Assorted scrap metals	Scrap metal	North Eastern	Not tagged	Kg	Not verified	70 Kg	Unknown	30.00	2,100.00	Assorted	Public Auction	All						
Lot 14	Used Tyres			1															
14.01	Used tyres 750R/16	Motor vehicle accessories	North Eastern	Not tagged	Lot	Not Verified	5	Unknown	100.00	500.00	Unserviceab	Public Auction	All]					
		weeks SURES										- Auction							

Contral Region	Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
Fig. Type		Central Region													Central Region Offices Off Ruringu Stadium, along Classic Kiandu- Othaya					
Recompany Deckloop Recompa	Lot 15	Desktop Computers																		
16.1 User Typers R.T. Equipment System of effice of the part of			ICT Equipment	Regional	KeNHA/1010101/60/0 090	Each	TRF41402QN	1	Unknown	1,800.00	1,800.00	Unserviceab	Public Auction	All						
16.1 Used tyres CT Equipment Regional office Continue	Lot 16-	Used Tyres																		
Control Cont	16.1	Used tyres	ICT Equipment	Regional	Not tagged	Each	Not verified	41	Unknown	100.00	4,100.00	Unserviceab le	Public Auction	All	1					
17.1 Old Newspapers Office Special Paper Special Equipment Policy Special Equipment Pol	Lot 17	Old Newspapers													1					
Lot 18 Used Tyres & Batteries Motor Vehicles Accessories Nakuru-Regional office N/A Lot N/A S Unknown 100.00 500.00 Unserviceab Le Unknown 100.00 Unserviceab Le Nakuru-Regional office Nakuru-Regional office N/A Lot N/A S Unknown 100.00 Unserviceab Le Unknown 100.00 Unserviceab Le Nakuru-Regional office Nakuru-Regional office N/A Lot N/A S Unknown 100.00 Unserviceab Le Unknown 100.00 Unserviceab Le Nakuru-Regional office Nakuru-Regional office N/A Lot N/A S Unknown 100.00 Unserviceab Unserviceab Auction All Unknown 100.00 Unserviceab Nakuru-Regional office Nakuru-Regional office Nakuru-Regional office Nakuru-Regional N/A Lot N/A S Unknown 100.00 Unserviceab Unserviceab Nakuru-Regional Nakuru-Regional Nakuru-Regional Nakuru-Regional N/A Lot N/A S Unknown 100.00 Unserviceab Nakuru-Regional Nakuru-Region	17.1	Old Newspapers		Regional	Not tagged	Kg	Not verified	20.00	Unknown	5.00	100.00	Unserviceab le		All						
Lot 18 Used Tyres & Batteries Motor Vehicles Accessories Nakuru-Regional office N/A Lot N/A																				
Lot 18 Used Tyres & Batteries Motor Vehicles Accessories Nakuru-Regional office N/A Lot N/A																				
18.1 Tyres 7.50R16LT Motor Vehicles Accessories Regional office N/A Lot N/A 5 Unknown 100.00 500.00 Unserviceab le All Unknown 100.00 Unserviceab le All Unknown 100.00 Unserviceab le All Unknown 100.00 Unserviceab le Auction All Viserviceab Auction All Viser	Lot 18	Used Tyres & Batteries													Regional office MOTI Building, Prison Road,					
18.2 Tyres size 265/65R17 Motor Vehicles Accessories office Regional N/A Lot N/A Lot N/A 4 Unknown 100.00	18.1	Tyres 7.50R16LT		Regional	N/A	Lot	N/A	5	Unknown	100.00	500.00	Unserviceab le	Auction	All	ivakuru.					
18.3 Tyres size 7.50R16LT Motor Venicies Accessories A	18.2	Tyres size 265/65R17		Regional	N/A	Lot	N/A	4	Unknown	100.00	400.00	Unserviceab	Auction	All						
18.4 Tyres Size 265/65R17 Motor Vehicles Regional N/A Lot N/A 4 Unknown 100.00 400.00 Loserviceab Auction All	18.3	Tyres size 7.50R16LT		Regional office	N/A	Lot	N/A	1	Unknown	100.00	100.00	Unserviceab le	Auction	All						
	18.4	Tyres Size 265/65R17		Regional office	N/A	Lot	N/A	4	Unknown	100.00			Auction	All	_					
Tyres Size 255/75R15 Motor Vehicles Accessories Accessories Regional office N/A Lot N/A 4 Unknown 100.00 400.00 Unserviceab le Unserviceab Regional Later N/A All N/A 4 Unknown 100.00 1.8800.00 Unserviceab Regional All N/A	18.5	Tyres Size 255/75R15		Regional	N/A	Lot	N/A	4	Unknown	100.00			Public Auction	All	-					

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)		Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
Lot 19	Printers and Scanner																	
19.1	Printer	ICT Equipment	Nakuru- Regional office	KeNHA/1010101/50/0 109	Each	L7L3Z01320	1	Unknown	10,000.00		Public Auction	All						
19.2	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N\A	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction	All						
19.3	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction	All						
19.4	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction	All						
19.5	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction	All						
19.6	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction Public	All						
19.7	Printer	ICT Equipment	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	1,000.00		Auction	All						
Lot 20	Assorted Chairs									10,000.00								
20.1	Executive Chair	Furniture	Nakuru- Regional office	Nakuru-Nyahururu (B5) Road/Furn/007	Each	Not Verified	1	Unknown	650.00	650.00 Unserviceab le	Public Auction	All						
20.2	Executive Chair	Furniture	Nakuru- Regional office	Mau-Narok-Kisiriri (B18) Road/Furn/001	Each	Not Verified	1	Unknown	650.00	650.00 Unserviceab le	Public Auction	All						
20.3	Executive Chair	Furniture	Nakuru- Regional office	Not tagged	Each	Not Verified	1	Unknown	650.00	650.00 Conserviceab	Public Auction	All						
20.4	Officer Chair	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 056	Each	Not Verified	1	Unknown	500.00	500.00 Unserviceab le	Public Auction	All						
20.5	Officer Chair(Black)	Furniture	Nakuru- Regional office	Mau-Summit- Timboroa (A104) Road/Furn/020	Each	Not Verified	1	Unknown	500.00		Public Auction	All	South Rift Regional office MOTI Building, Prison Road, Nakuru.					
20.6	Office Chair	Furniture	Nakuru- Regional office	021	Eacn	Not Verified	1	Unknown	400.00	400.00 Unserviceab le	Public Auction	All						
20.7	Office Chair	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 023	Each	Not Verified	1	Unknown	400.00	400.00 Unserviceab	Public Auction	All						
20.8	Vistor Bench 3 Saeter	Furniture	Nakuru- Regional office		Each	Not Verified	1	Unknown	600.00	600.00 Unserviceab le	Public Auction	All						
20.9	Sinatabu Chair	Furniture	Nakuru- Regional office	Mau Narok- Kisiriri(B18) Road/Furn/047	Each	Not Verified	1	Unknown	300.00	300.00 Unserviceab le	Public Auction	All						
<u></u>	1	1								4,650.00								

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Method of disposal	Eligibility	Auction Centre	Unit Proce total Price	Name of the buyer	Lot No	Remarks
Lot 21-	Office Desks, Tables and Cabinets																
21.1	Conference table	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 033	Each	Not Verified	1	Unknown	1,400.00	1,400.00 Unserviceab le	Public Auction	All					
21.2	Executive Desk	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 038	Each	Not Verified	1	Unknown	1,000.00	1,000.00 Unserviceab	Public Auction	All					
21.3	Steel Cabinet	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 022		Not Verified	1	Unknown	1,000.00	1,000.00 Unserviceab le		All					
21.4	Steel Cabinet	Furniture	Nakuru- Regional office	KeNHA/1040101/50/0 020	Each	Not Verified	1	Unknown	1,000.00	1,000.00 Unserviceab le	Public Auction	All	-				
21.5	6 drawer table with maroon cover	Furniture	Nakuru- Regional office	Not tagged	Each	Not Verified	1	Unknown	300.00	300.00 Unserviceab	Public Auction	All					
Lot 22	Table , Bookshelf & Cabinet									4,700.00			-				
22.1	Binding Machine (Followes)	Furniture	Nakuru- Regional office	KeNHA/1020/03/008	Each	N/A	1	Unknown	500.00	500.00 Unserviceab	Public Auction	All	-				
22.2	Binding Machine (BM 2088C)	Furniture	Nakuru- Regional office	KeNHA/1020/03/0089	Each	N/A	1	Unknown	500.00	500.00 Unserviceab	Public Auction	All					
22.3	Binding Machine (office Point)	Furniture	Nakuru- Regional office	Not tagged	Each	N/A	1	Unknown	500.00	500.00 Unserviceab	Public Auction	All					
Lot 23	Heater									1,500.00							
23.1	Von Hotpoint Heater	Office Equipment	Nakuru- Regional office	Nakuru-Regional office	Each	N/A	3	Unknown	200.00	600.00 Unserviceab	Public Auction	All					
Lot 24	Newspapers																
24.1	Newspapers	Office Equipment	Nakuru- Regional office	Nakuru-Regional office	Each	N/A	Lot	Unknown	100.00	100.00 Unserviceab	Public Auction	All					
	Western Region												Ministry of Roads Building, Kisumu- Kakamega Road, Kakamega				
Lot 25	Assorted Office												1				
25.1	Furnitures Metallic Stand wide	Furniture	Kakamega	Not tagged	Lot	N/A	1	Unknown	600.00		Public	PWD	-				
25.2	Wooden Table Medium Size tables	Furniture	Regional off Kakamega Regional off	Not tagged	Lot	N/A	4	Unknown	500.00	2,000.00 damaged Broken & damaged	Auction Public Auction	PWD	-				
25.3	Office chairs	Furniture	Kakamega Regional off	Not tagged	Lot	N/A	4	Unknown	200.00	800.00 Broken & worn out	Public Auction	PWD					

Mathematical Content	Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
Part											3,400.00)								
No.	Lot 26	Tyres																		
2-10	26.1	Used Tyres (Assorted)			N/A	Lot	N/A	3	Unknown	100.00	300.00	Worn out		All	=					
2-10	Lot 27	Survey Equipment																		
			Equipment	Regional off	N/A	Lot	N/A	15	Unknown	300.00	4,500.00	Obsolete	Auction	All						
27-4	27.2	Tripod Stand	Equipment	Regional off	N/A	Each	N/A	10	Unknown	500.00	5,000.00	Obsolete	Auction	All						
Auto-	27.3	Measuring Wheel	Equipment	Regional off	N/A	Each	N/A	1	Unknown	400.00	400.00	Obsolete	Auction	All	=					
Column C	27.4	Assorted Survey Rods			N/A	Each	N/A	20	Unknown	200.00	4,000.00	Obsolete		All						
Name											13,900.00)								
Name																				
Name																				
Name									-			<u> </u>								
28.1 In PreBook 45 Oct Liptop CT Equipment Regional off CS CS CS CS CS CS CS		Nyanza Region													Building, Busia Road,					
28.1 In PreBook 45 Oct Liptop CT Equipment Regional off CS CS CS CS CS CS CS	Lot 28	CPU																		
29.1 Size		HP ProBook 450 G4	ICT Equipment		KeNHA/1010101/80/0 087	Each	5CD64980L3	1	Unknown	1,500.00	1,500.00			All						
Act Sizes Secories Regional off Not tagged Lat Value Company Company	Lot 29	Used Tyres																		
March Medicator Medicato	29.1				Not tagged	Lot	N/A	1	Unknown	100.00	100.00	Worn out		All						
Avery Weigh Tromis 1210 Indicator Regional off Not tagged Lot 102950179 1 Unknown S00.0 S0		sizes	accsories	Regional off									Auction							
Author A	Lot 30	Weigh Indicator																		
Upper Eastern Region Upper Eastern Eas	30.1	Avery Weigh Tronix 1210 Indicator	ICT Equipment	Kisumu Regional off	Not tagged	Lot	102950179	1	Unknown	500.00	500.00			All						
Simple S		Upper Eastern Region													Central Region Offices Off Ruringu Stadium, along Classic Kiandu- Othaya					
Simple S	T of 21	Lanton													-	-				
31.2 HP laptop-Intel Core i 3 ICT Equipment Isiolo Regional off Not Tagged Each #REF! 1 Unknown 600.00 600.00 Unserviceal le Auction All		HP laptop-Intel Core i 5	ICT Equipment		0092		5CD7217QMX	2	Unknown	6,500.00	13,000.00	Unserviceab		All	-					
Lot 32 Office equipment Siolo Regional off	31.2	HP laptop-Intel Core i 3	ICT Equipment	Isiolo		Each	#REF!	1	Unknown	600.00	600.00	Unserviceab	Public Auction	All	1					
32.1 Fan Office Isiolo Regional off Reg											13,600.00)]					
S2.1 Fall Equipment Regional off 008 Each 01710 1 Unknown 500.00 1 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All S00.00 E Auction All Auction All S00.00 E Auction All S00.00 E Auction All Auction All S00.00 E Auction All Auction Auction All Auction Au		Office equipment	Office	Isiolo	KeNHΔ/1020102/25D/		C03619201306					Unserviceab	Public		-					
32.2 Water Dispenser Equipment Regional off	32.1	Fan	Equipment	Regional off		Each		1	Unknown	300.00	300.00	le	Auction	All						
	32.2	Water Dispenser			Not Tagged	Each	N/A	1	Unknown	500.00		le		All						
	Lot 33	Office Funiture									800.00	1			1	-				

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)		Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
33.1	Office Chairs	Furniture	Isiolo Regional off	Not Tagged	Each	N/A	6	Unknown	300.00	1,800.00	Unserviceab le	Public Auction	All						
Lot 34	Tyres																		
34.1	Used tyres	Motor Vehcile	Isiolo	Not Tagged	Lot	N/A	20	Unknown	100.00	2,000.00	Unserviceab	Public	All						
54.1	Csca tyres	accsories	Regional off	Tion Tagged	Lot	10/11	20	Cirkiowii	100.00	2,000.00	le	Auction	7111						
	Nairobi Region													MOR&PW Main Building,Mac hakos Road, Industrial Area,Nairo					
Lot 35	Assorted ICT Equipment																		
35.1	HP 27F Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	3CMO421PQR	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All						
35.2	HP N246V Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	ICR82102C2	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All						
35.3	HP V194 Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	3CQ95207DY	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All						
35.4	HP 24 ES Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	3CM72401VN	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All						
35.5	HP LE1901W Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	CNC014PJM2	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All						
35.6	HP V194 Monitor	ICT Equipment	Nairobi Regional off	Not Tagged	Each	3CQ95207C1	1	Unknown	200.00	200.00	Unserviceab le	Public Auction	All	_					
Lot 36	Office Equipment									1,200.00									
36.1	Wooden Cabinet	Office	Nairobi	KeNHA/1040101/10/0	Each	Not verified	1	Unknown	200.00	200.00	Unserviceab	Public	All						
		Equipment Office	Regional off Nairobi	055							le Unserviceab	Auction Public							
36.2	Metalic Doors	Equipment	Regional off	Not Tagged	Each	Not verified	7	Unknown	2,500.00	17,500.00	le	Auction	All						
Lot 37	Printer & Scanner									17,700.00									
37.1	HP LASER JET P205SD Printer	ICT Equipment	Nairobi Regional off	Not Tagged	Each	VNC3F67651	1	Unknown	500.00	500.00	Unserviceab	Public Auction	All						
	F2033D FILITE		Regional on								ic	Auction							
Lot 38	Laptops HP laptop ProBook 470		Nairobi								Unserviceab	Public		1					
38.1	GO	ICT Equipment	Regional off	Not Tagged	Each	2CE3411TJ2	1	Unknown	3,500.00	3,500.00	le	Auction	All						
38.2	HP LAPTOP ProBook 470	ICT Equipment	Nairobi Regional off	Not Tagged	Each	2CE3411LLX	1	Unknown	3,500.00	3,500.00	Unserviceab le	Public Auction	All						
38.3	HP PAVILLION DV7 Laptop	ICT Equipment	Nairobi Regional off	Not Tagged	Each	5CQ12934C0	1	Unknown	3,500.00	3,500.00	Unserviceab le	Public Auction	All						
Lot 39	Pines									10,500.00				1					
39.1	Pipes Pvc Pipes	Pipes	Nairobi	Not Tagged	Rolls	5CQ12934C0	2	Unknown	1,000.00	2,000.00	Unserviceab		All	1					
37.1	e peo		Regional off	ruggod		2 2 2 2 3 7 4 0 0		Cindiowii	1,000.00	2,000.00	le	Auction	- 111	1					
Lot 40	Street Light Posts		N : 1:									D III]					
40.1	Street light posts	Road Funiture	Nairobi Regional off	Not Tagged	Each	Not verified	50	Unknown	3,000.00	150,000.00	Unserviceab le	Public Auction	All						
Lot 41	Lot 41- Guard Rails													1					
41.1	Guard Rails	Road Funiture	Nairobi Regional off	Not Tagged	Each	N/A	300	Unknown	2,500.00	750,000.00	Unserviceab le	Public Auction	All						
			L		l	1		1			L	l	l	J		I			

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)		Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
	North Rift Region													KeNHA Regional Office, Sugunanga Off Nairobi - Eldoret Highway (A8) Road Eldoret					
Lot 42	Laptop													1					
42.1	Hp Laptop	ICT Equipment	Eldoret Regional off	Not Tagged	Each	CND7213PV8	1	Unknown	1,000.00	1,000.00	Unserviceab	Public Auction	All						
42.1	Dell Laptop	ICT Equipment	Eldoret Regional off	KeNHA/PA/1010101/ 55/054	Each	38K9R32	1	Unknown	1,000.00	1,000.00	Unserviceab le	Public Auction	All						
42.3	Hp Laptop	ICT Equipment	Eldoret Regional off	KeNHA/PA/1010101/ 55/052	Each	Not Verified	1	Unknown	1,000.00	1,000.00	Unserviceab le	Public Auction	All						
	Office Chairs, Table &									3,000.00									
Lot 43	File Cabinet		7711								D 1 0	D III							
43.1	Broken office Chairs	ICT Equipment	Eldoret Regional off	Not Tagged		Not Verified	4	Unknown	500.00	2,000.00	worn out	Public Auction	All						
43.2	Office Table	ICT Equipment	Eldoret Regional off	Not Tagged	Each	Not Verified	4	Unknown	1,000.00	4,000.00	Broken & worn out	Public Auction	All						
43.3	File Cabinet	ICT Equipment	Eldoret Regional off	KeNHA/PA/1020103/ 55/009	Each	Not Verified	1	Unknown	800.00	800.00	Damaged	Public Auction	All						
	Dispenser &									6,800.00									
Lot 44	Microwave	0.00	THE STATE OF	T. N. I. (1020102/55/0		TTI 10 10 50 10 0 T						D III							
44.1	Silva Water Despenser	Office Equipment	Eldoret Regional off	KeNHA/1020103/55/0 028	Each	H1104060198N BBQ	1	Unknown	500.00	500.00	Unserviceab le	Auction	All	_					
Lot 45	Printer & Scanner																		
45.1	Canon Image Runner (C30251)	ICT Equipment	Eldoret Regional off	Not Tagged	Each	(21) NA00015528	1	Unknown	500.00	500.00	Unserviceab le	Public Auction	All						
45.2	Cano scan Lide 25	ICT Equipment	Eldoret Regional off	KeNHA/1010101/55/0 012	Each	Not Verified	1	Unknown	500.00	500.00	Unserviceab le	Public Auction	All						
										1,000.00									
Lot 46	Assorted Scrap Metals Bridge parts, guard rails		Eldoret									Public		_					
46.1	and sign post	Scrap	Regional off	Not Tagged	Kg	N/A	50,000kg	Unknown	30/=per kg	1,500,000.00	Damaged	Auction	Youth						
	Corridor B-Gilgil													South Rift Regional office MOTI Building, Prison Road, Nakuru.					
Lot 47	Assorted ICT Equipment																		
47.1	HP Tower 290 G2/CPU	ICT Equipment	Corridor B	Not Tagged	Each	8CG838CYBX	1	Unknown	1,000.00	1,000.00	Unserviceab le	Public Auction	All	1					
47.2	Hp Pro 3400/CPU	ICT Equipment	Corridor B	Not Tagged	Each	TRF2200ZZX	1	Unknown	1,000.00	1,000.00	Unserviceab le	Public Auction	All						
Lot 48	Printers									2,000.00									
48.1	HP Deskjet Printer 2130	ICT Equipment	Corridor B	N/A	Each	N/A	1	Unknown	1,400.00	1,400.00	Unserviceab	Public Auction	All	1					
Lot 49	Heater																		
		1				1			·		1			_		·			

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
49.1		Office Equipment	Corridor B	N/A	Each	N/A	1	Unknown	400.00	400.00	Unserviceab le	Public Auction	All						
Lot 50	Assorted Scrap Material																		
50.1	Damaged Guardrails	Scrap	Corridor B	N/A	Assorted	N/A	575	Unknown	500.00	287,300.00	Unserviceab le	Public Auction Public	All	-					
50.2	Signs and damaged road signs with supports	Scrap	Corridor B	N/A	Assorted	N/A	870M	Unknown	7,000.00		Unserviceab le	Auction	All						
										294,500.00									
-						+											1		
																	1		
	Corridor C-Juja													Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church, Opposite Laptrust Fund Garden.					
	1 2 66																		
Lot 51	Assorted office Equipment																		
51.1	Water dispenser	Office Equipment	Corridor C	N/A	Each	N/A	2	Unknown	800.00	1,600.00	Obsolete	Public Auction	All						
51.2	Damaged Metallic Door	Office Equipment	Corridor C	N/A	Each	N/A	1	Unknown	2,000.00	2,000.00 3,600.00	Obsolete	Public Auction	All	-					
	AXLE LOAD									.,									
Lot 52	CONTROL Asssorted ICT Equipment													=					
52.1	HP 24mh 23.8 Inch Display	ICT equipment	Suswa Weighbridge	Not Tagged	Each	3CM1261KWJ	2	Unknown	3,000.00	6,000.00	Faulty	Public Auction	All	=					
53.1	METALLIC FOUNDATION PLATES FOR SINGLE AXLE WEIGHER SCALE	Scales	Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,000.00	1,000.00	Unserviceab	Public Auction	All						
53.2	LEVELLING MATS FOR MOBILE SCALES	Scales	Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	800.00	800.00	Unserviceab le		All						
53.3	ANALOGUE CARDINAL WEIGHING INDICATOR	Scales	Isinya Weighbridge	Not Tagged	Each	E09114-0073	1	Unknown	1,500.00	1,500.00	Unserviceab le	Public Auction	All						

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Method of disposal	Eligibility	Auction Centre	Unit Proce total Price	Name of the buyer	Lot No	Remarks
53.4	WEIGHING PC	Scales	Isinya	KeNHA/1010101/000	Each	Not Verified	1	Unknown	3,000.00	3,000.00 Unserviceab		All					
			Weighbridge	716						6,300.00	Auction						
Lot 54	Power Units									.,							
54.1	ANALOGUE LOAD CELL3PCS WITH NO BASE PLATES		Isinya Weighbridge	Not Tagged	Each	SE213258, 8GE8GE3556, 8U48931	3	Unknown	1,500.00	4,500.00 Unserviceab	Public Auction	All					
54.2	ANALOGUE LOAD CELL 2 PCS WITH BASE PLATE		Isinya Weighbridge	Not Tagged	Each	8GE3515	2	Unknown	2,000.00	4,000.00 Unserviceab	Public Auction	All					
													Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church, Opposite Laptrust Fund Garden.				
54.3	LOAD CABLE FROM JUNCTION BOX TO INDICATOR		Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00 Unserviceab	Public Auction	All					
54.4	BOOM ARMS		Isinya Weighbridge	Not Tagged	Each	Not Verified	6	Unknown	1,000.00	6,000.00 Unserviceab	Public Auction	All					
54.5	INFRA RED		Isinya Weighbridge	Not Tagged	Each	113060140014, 113060140010, 11306014008, 113052230026	4	Unknown	300.00	1,200.00 Unserviceab		All					
54.6	ELLIES EXTENSION		Isinya Weighbridge	Not Tagged	Each	1529C	1	Unknown	100.00	100.00 Unserviceab le	Public Auction	All					
54.7	BATTERY CHARGER		Isinya Weighbridge	Not Tagged	Each	SJA034311	1	Unknown	700.00	700.00 Unserviceab	Public Auction	All					
54.8	SWITCHING ADAPTER		Isinya Weighbridge	Not Tagged	Each	E164369	1	Unknown	200.00	200.00 Unserviceab	Public Auction	All					
54.9	ORING INDUSTRIAL 8-PORT SLIM TYPE UNDAMAGED ETHERNET SWITCH WITH 8X10/100 BASE		Isinya Weighbridge	Not Tagged	Each	013037A09667, 013037A09656	2	Unknown	1,000.00	2,000.00 Unserviceab	Public Auction	All					
54.10	VEHICLE LOGGER BUS VARK		Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	3,300.00	3,300.00 Unserviceab	Public Auction	All					
54.11	INPUT AND OUTPUT UNIT MJK ELECTRONIC		Isinya Weighbridge	Not Tagged	Each	216	1	Unknown	1,000.00	1,000.00 Unserviceab	Public Auction	All					
54.12	WHITE BOX HOUSING		Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,300.00	1,300.00 Unserviceab le	Public Auction	All					
54.13	DIGITAL LOAD CELL WITH NO CAPOR BALL		Isinya Weighbridge	Not Tagged	Each	D9U3834, D7M4647, D9M4197, D9D3255, D7M4475	5	Unknown	2,000.00	10,000.00 Unserviceab	Public Auction	All					
54.14	воом вох		Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00 Unserviceab le	Public Auction	All					
										35,300.00							
Lot 55	Assorted ICT Equipment																
55.1	CAMERA POLES		Isinya Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	500.00	1,000.00 Unserviceab	Public Auction	All	1				
55.2	AXIS CAMERA COVERS		Isinya Weighbridge	Not Tagged	Each	Not Verified	4	Unknown	200.00	800.00 Unserviceab		All					

KENHA

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs) Condition Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
55.3	HORN SPEAKER		Isinya Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	100.00	100.00 Unserviceab Public Auction	All						
55.4	MUSHROOM NETWORK SWITCH		Isinya Weighbridge	Not Tagged	Each	1219B04086	1	Unknown	500.00	500.00 Unserviceab Public Auction	All						
55.5	FERGUSON GENERATOR		Isinya Weighbridge	KeNHA1020101/00/0 005	Each	Not Verified	1	Unknown	50,000.00	50,000.00 Unserviceab Public Auction	All						
55.6	UNIFY OUTDOOR AND INDOOR AC UNIT		Isinya Weighbridge	Not Tagged	Each	3907525	1	Unknown	1,500.00	1,500.00 Unserviceab le Public Auction	All						
55.7	IMAGE SERVER		Isinya Weighbridge	Not Tagged	Each	X1693649	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
55.8	TC SERVER		Isinya Weighbridge	Not Tagged	Each	1693639	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
55.9	AMPLIFIER		Isinya Weighbridge	Not Tagged	Each	104289	1	Unknown	1,800.00	1,800.00 Unserviceab Public Auction	All						
55.1	LENOVO (WIDE TFT MONITOR) 23"		Isinya Weighbridge	Not Tagged	Each	VIA27923	1	Unknown	1,500.00	1,500.00 Unserviceab Public Auction	All						
55.1	1 LENOVO MICRO CPU		Isinya Weighbridge	Not Toggod	Each	PC1EZD7X	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
55.1	2 MERCER MONITOR		Isinya Weighbridge	Not Tagged	Each	VGA17031212 2270088	1	Unknown	1,500.00	1,500.00 Unserviceab Public Auction	All						
Lot 56	Office Funiture		Weigherlage			2270000				67,700.00							
56.1	WOODEN CABINET WITH GLASS		Isinya Weighbridge	N/A	Each	N/A	1	Unknown	1,000.00	1,000.00 Unserviceab Public Auction	All						
Lot 57	Tyre & Air bag																
57.1	Car Tyres	Motor Vehicle accessories	Isinya Weighbridge	Not Tagged	Lots	Not Verified	7	Unknown	100.00	700.00 Unserviceab Public Auction	All						
57.2	Airbag	Motor Vehicle accessories	Isinya Weighbridge	Not Tagged	Lots	Not Verified	34	Unknown	500.00	17,000.00 Unserviceab Public Auction	All						
										17,700.00							
Lot 58	Assorted Scrap Metals																
58.1	HSWIM GANTRY	Scrap	Athi River Weighbridge	N/A	Kgs	N/A	1	Unknown	20,000.00	Public Auction 20,000.00 Obsolete	Youth	Corridor "A" Office, Off Athi River /Namanga Interchange, Next to Mavuno Church, Opposite Laptrust Fund Garden.					
58.2	ASSORTED SCRAP	Scrap	Athi River Weighbridge	N/A	Kgs	N/A	1	Unknown	10,000.00	10,000.00 Obsolete Public Auction	Youth						
7 . 70	Assorted ICT									30,000.00							
Lot 59	Equipment		Athi River							Unserviceab Public							
59.1	Ibm Server		Weighbridge Athi River	Not Tagged	Each	884125Y	1	Unknown	7,000.00	le Auction	All						
59.2	Hp System Unit		Weighbridge Athi River	Not Tagged	Each	MXL04100T3	1	Unknown	500.00	500.00 le Auction	All						
59.3	Lenovo 14" Display		Weighbridge	Not Tagged	Each	V3G4699	1	Unknown	1,500.00	1,500.00 Unserviceab Public Auction	All						
59.4	Laserjet Mfp Printer		Athi River Weighbridge	Not Tagged	Each	CNB7J559DH	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
59.5	Dell Display		Athi River Weighbridge	Not Tagged	Each	CN-OR735N- 64180	1	Unknown	1,500.00	1,500.00 Unserviceab le Public Auction	All						

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs) Condition Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
59.6	Hp Display		Athi River Weighbridge	Not Tagged	Each	3CQ5413TWG	1	Unknown	1,500.00	1,500.00 Unserviceab Public Auction	All						
59.7	Rca Laptop		Athi River Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,800.00	1,800.00 Unserviceab Public Auction	All						
59.8	Hp Corei3 Pc		Athi River Weighbridge	Not Tagged	Each	SGH520RT0X	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
59.9	Lenovo Min Pc		Athi River Weighbridge	Not Tagged	Each	IBM P/N: 74P4455	1	Unknown	1,000.00	1,000.00 Unserviceab In use	All						
59.10	Hp Corei5 Pc		Athi River Weighbridge	Not Tagged	Each	TRF13708G0	1	Unknown	2,500.00	2,500.00 Unserviceab Public Auction	All						
59.11	Superchannel Pc		Athi River Weighbridge	Not Tagged	Each	X16-93649	1	Unknown	2,500.00	2,500.00 Unserviceab le Public Auction	All						
59.12	Superchannel Pc		Athi River Weighbridge	Not Tagged	Each	X16-93639	1	Unknown	2,500.00	2,500.00 Unserviceab Public Auction	All						
59.13	Hikvision (Dome) Camera		Athi River Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	300.00	300.00 Unserviceab Public Auction	All						
59.14			Athi River Weighbridge	Not Tagged	Each	CN-OR735N	1	Unknown	1,500.00	1,500.00 Unserviceab Public Auction	All						
59.15	Dell System Unit		Athi River	KENHA/1010101/00/ 0731	Each	Not Verified	1	Unknown	2,500.00	2,500.00 Unserviceab Public Auction	All						
59.16	Hp Jet 100 Mobile Printer		Athi River Weighbridge	-	Each	MODEL: CL551A	1	Unknown	1,200.00	1,200.00 Unserviceab Public Auction	All						
59.17	Superchannel Pc Casing		Athi River Weighbridge	EDH0000123	Each	Not Verified	1	Unknown	100.00	Unserviceab Public Auction	All						
59.18	DELL DISPLAY		Athi River Weighbridge	Not Tagged	Each	CN-OR735N	1	Unknown	1,200.00	1,200.00 Unserviceab Public Auction	All						
59.19	STR MS-88 MICROPHONE		Athi River Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	100.00	Unserviceab Public le Auction	All						
59.20	CAD WASH		Athi River Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,250.00	1,250.00 Unserviceab Public Auction	All						
59.21			Athi River Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,000.00	1,000.00 Unserviceab Public le Auction	All						
59.22	ANALOGUE LOAD CELLS		Athi River Weighbridge	Not Tagged	Each	Not Verified	5	Unknown	1,000.00	5,000.00 Unserviceab Public Auction	All						
59.23	RDUS(Remote Display		Athi River Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	350.00	1,050.00 Unserviceab Public Auction	All						
			weighbridge							43,700.00							
Lot 60	Tyres, Generator, Fire Extenguisher & Water Tank																
60.1		Motor Vehicles Accessories	Athi River Weighbridge	N/A	Lots	N/A	5	Unknown	100.00	500.00 Unserviceab Public Auction	All						
T -4.61	Assorted Funiture																
Lot 61 61.1	METALIC CABINETS		Athi River Weighbridge	N/A	Each	N/A	4	Unknown	800.00	3,200.00 Unserviceab Public Auction	All						
61.2	WOODEN TABLE		Athi River	N/A	Each	N/A	1	Unknown	300.00	300.00 Unserviceab Public Auction	All						
61.3	ONE (1) TENT SUPPORTERS		Weighbridge Athi River Weighbridge	N/A	Each	N/A	1	Unknown	2,000.00	2,000.00 Unserviceab Public Auction	All						
61.4	OFFICE CHAIRS		Athi River	N/A	Each	N/A	10	Unknown	200.00	2,000.00 Unserviceab Public Auction	All						
61.5	TENT FLAME SUPPORT		Athi River	N/A	Each	N/A	1	Unknown	3,000.00	3,000.00 Unserviceab Public Auction	All						
	SUPPUKI		Weighbridge							11,000.00 Auction							
Lot 62	Assorted ICT Equipment																

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility
62.1	SUPERCHANNEL COMPUTER		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	2,000.00	4,000.00	Unserviceab le	Public Auction	All
62.2	SAMSUNG 17' MONITOR		Juja Weighbridge	Not Tagged	Each	ZTZHH4LD405 209V	1	Unknown	1,500.00	1,500.00	Unserviceab le	Public Auction	All
62.3	LENOVO DESKTOP PC		Juja Weighbridge	Not Tagged	Each	S4NDN59	1	Unknown	2,500.00	2,500.00	Unserviceab le	Public Auction	All
62.4	LENOVO DESKTOP PC		Juja Weighbridge	Not Tagged	Each	S4GCX87	1	Unknown	2,500.00	2,500.00	Unserviceab le	Public Auction	All
62.5	AIRCON INDOOR UNIT		Juja Weighbridge	Not Tagged	Each	403CHXM0330 6	1	Unknown	100.00	100.00	Unserviceab le	Public Auction	All
Lot 63 63.1	Office Funiture Metallic office cabinets		Juja Weighbridge	N/A	Each	N/A	3	Unknown	500.00	1,500.00	Unserviceab le	Public Auction	All
	Lot 64 : Assorted									12,100.00			
Lot 64	Scraps-Guard Rails		Juja									Public	
64.1	Guardrails (4M)		Weighbridge	Not Tagged	Kgs	Not Verified	11	Unknown	2,500.00	27,500.00	Obsolete	Auction	Youth
Lot 65	Lot 65 : Assorted Floodlights												
65.1	FLOODLIGHT POLE (5.5M)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	800.00	800.00	Obsolete	Public Auction	Youth
65.2	FLOODLIGHT POLE (8.4M)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	800.00	800.00	Obsolete	Public Auction	Youth
65.3	FLOODLIGHT 100W IP65		Juja Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	800.00	2,400.00	Obsolete	Public Auction	Youth
65.4	FLOODLIGHT 100W IP66		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	800.00	800.00	Obsolete	Public Auction	Youth
65.5	YELLOW POSTS(2.5M)		Juja Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	500.00	1,500.00	Obsolete	Public Auction	Youth
65.6	YELLOW POSTS(1.5M)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	300.00		Obsolete	Public Auction	Youth
Lot 66	Assorted Tapes, Cameras, mats, Batteries									6,600.00			
66.1	BOOM MECHANISM		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,200.00	1,200.00	Obsolete	Public Auction	Youth
66.2	STANLEY TAPE 30M/100'		Juja Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	100.00	300.00	Obsolete	Public Auction	Youth
66.3	STANLEY TAPE 50M/165'		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	100.00	200.00	Obsolete	Public Auction	Youth
66.4	LEVELLING MATS		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	800.00	1,600.00	Obsolete	Public Auction	Youth
66.5	DRY CELL BATTERY 12V		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00	Obsolete	Public Auction	Youth
66.6	Metallic Camera Poles		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	300.00	300.00	Obsolete	Public Auction	Youth
66.7	Boom Boxes		Juja Weighbridge	Not Tagged	Each	Not Verified	6	Unknown	800.00	4,800.00	Obsolete	Public Auction	Youth
66.8	RDU mount		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,200.00	1,200.00	Obsolete	Public Auction	Youth

Next to Mavuno Church,

Garden.

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
66.9	RDUs		Juja Weighbridge	Not Tagged	Each	Not Verified	5	Unknown	1,500.00	7,500.00	Obsolete	Public Auction	Youth						
66.10	BOOM ARMS (3.5M)		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	600.00	1,200.00	Obsolete	Public Auction	Youth						
66.11	BOOM ARMS(4.7M)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	700.00	700.00	Obsolete	Public Auction	Youth						
66.12	BOOM ARMS(4.0M)		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	700.00	1,400.00	Obsolete	Public Auction	Youth						
66.13	KELLY LOAD CELL (30t)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,500.00	1,500.00	Obsolete	Public Auction	Youth						

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs) Condition Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
										22,400.00							
Lot 67	Assorted Sign Boards																
67.1	SIGN BOARDS (2m by 1.5m)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	450.00	450.00 Obsolete Public Auction	Youth						
67.2	SIGN BOARDS (3m by 1.5m)		Juja Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	500.00	1,000.00 Obsolete Public Auction	Youth						
67.3	SIGN BOARDS (1.6m by 0.8m)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	300.00	300.00 Obsolete Public Auction	Youth						
67.4	SIGN BOARDS (1.6m by 1.5m)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	300.00	300.00 Obsolete Public Auction	Youth						
	,									2,050.00							
T 4 60	6" - 1 D - 1																
Lot 68 68.1	Single Deck LSWIM SINGLE DECK		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	7,000.00	7,000.00 Unserviceab Public Auction	PWD						
Lot 69	Generator		weighbridge							ic /tuction							
69.1	TEKSAN GENERATOR		Juja Weighbridge	Not Tagged	Each		1	Unknown	65,000.00	65,000.00 Unserviceab le Public Auction	Women						
69.2	TEKSAN GENERATOR		Juja Weighbridge	Not Tagged	Each		1	Unknown	65,000.00	65,000.00 Unserviceab Public Auction	Women						
										130,000.00							
Lot 70	Water pump																
70.1	Water Pump Motor (8kva)		Juja Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,000.00	1,000.00 Unserviceab le Public Auction	Women						
Lot 71	Office Furniture											MoPW Building, Busia Road, Kisumu					
71.1	Office chairs		Rongo Weighbridge	Not Tagged	Each	Not Verified	4	Unknown	200.00	800.00 Broken & worn out	Women						
71.2	Long Office Drawers		Rongo Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	500.00	1,000.00 broken & Public Auction	Women						
71.3	Short Office Drawers		Rongo Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	300.00	600.00 broken & Public Auction	Women						
71.4	Office tables		Rongo Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	2,000.00	6,000.00 Worn out Public Auction	Women						
										8,400.00							
Lot 72	ICT Equipment & Cameras																
72.1	Axis Lanes Cameras		Webuye Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	1,250.00	Public auction 3,750.00 serviceable	All	Ministry of Roads Building, Kisumu- Kakamega Road, Kakamega					

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
Lot 73	Assorted Scrap Metal								, ,										
73.1	Steel guardrails		Webuye Weighbridge	Not Tagged	Kgs	Not Verified	6	Unknown	2,500.00	15,000.00	Damaged	Public Auction	PWD						
73.2	Metal street light poles		Webuye Weighbridge	Not Tagged	Each	Not Verified	18	Unknown	500.00	9,000.00	Damaged	Public Auction	PWD						
										24,000.00									
Lot 74	Lot 74: Tyres																		
74.1	SUV tires	Motor Vehicle Accessories	Webuye Weighbridge	Not Tagged	Lots	Not Verified	5	Unknown	100.00	500.00	Worn out	Public Auction	All						
74.2	SUV Tire with rim	Motor Vehicle Accessories	Webuye Weighbridge	Not Tagged	Lots	Not Verified	1	Unknown	500.00	500.00	Damaged	Public Auction	All	-					
74.3	SUV Rim	Motor Vehicle Accessories	Webuye Weighbridge	Not Tagged	Lots	Not Verified	1	Unknown	400.00	400.00	condtion	Public Auction	All						
										1,400.00)								
															+				
Lot 75	ICT Equipment													Coast Regional office, MOR&PW Main Building, Mahindi Road off Shimanzi Road, Mombasa					
75.1	Lenovo Pc	ICT Equipment	Mtwapa Weigbridge	Kenha/1010101/00/08 31	Each	Not Verified	1	Unknown	1,000.00	1,000.00	Unserviceat le		All						
75.2	Hp Computer (Ovj9m3b	ICT Equipment	Mtwapa Weigbridge	Not Tagged	Each	Cnd18m1589	1	Unknown	1,000.00	1,000.00	Unserviceat le	Public Auction	All						
75.0		rom n	Mtwapa			DG1520F2			1 100 00		Unserviceat	Public		1					
75.3	Lenovo Pc	ICT Equipment	Weigbridge	Not Tagged	Each	PC152QF2	1	Unknown	1,400.00	1,400.00	le	Auction	All						
										3,400.00									
Lot 76 76.1	Office Furniture 37U cabinet rack	Furniture	Mtwapa	N/A	Each	N/A	1	Unknown	1,000.00	1,000.00	Unserviceat	Public Auction	Women						
76.2	27U cabinet rack	Furniture	Weigbridge Mtwapa Weigbridge	N/A	Each	N/A	1	Unknown	800.00		Obsolete	Public Auction	Women						
76.3	Old Image server	Furniture	Mtwapa Weigbridge	N/A	Each	N/A	1	Unknown	800.00	800.00	Unserviceat		Women						
76.4	Chairs	Furniture	Mtwapa Weigbridge	N/A	Each	N/A	3	Unknown	500.00	1,500.00	Obsolete	Public Auction)	Women						
										4,100.00									
Lot 77	Assorted Scraps																		
77.1	Guard Rails		Mtwapa Weigbridge	Not Tagged	Kgs	Not Verified	3	Unknown	2,500.00	7,500.00	ie	Auction	Youth						
77.2	Boom arm barrier		Mtwapa Weigbridge	Not Tagged	Each	Not Verified	3	Unknown	1,300.00	3,900.00	Unserviceat le	Public Auction	Youth						

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)		Method of disposal	Eligibility
			1.0			EGW MENUD				11,400.00		D 11:	
77.3	Old White Box		Mtwapa Weigbridge	Not Tagged	Each	ECW-MTWB- STR001-22	1	Unknown	300.00	300.00	Unserviceab le	Auction	Youth
77.4	Bill board scrapes		Mtwapa Weigbridge	Not Tagged	Each	Not Verified	3	Unknown	1,500.00	4,500.00	Unserviceab le	Public Auction	Youth
										4,800.00			
Lot 78	Power Units												
78.1	Galvanised steel guard rails		Dongo Kundu Weighbridge	Not Tagged	Kg	Not Verified	10	Unknown	500.00	5,000.00	Unserviceab le	Public Auction	All
Lot 79	Tyres												
79.1	Tyres		Dongo Kundu Weighbridge	Not Tagged	Lots	Not Verified	10	Unknown	100.00	1,000.00	Unserviceab le	Public Auction	All
Lot 80	ICT Equipment & Camers												
80.1	14 Inch Monitor		Mariakani Weighbridge	Not Tagged	Each	V9-05HG1E	1	Unknown	1,500.00	1,500.00	Serviceable	Public Auction	All
80.2	Chico outdoor AC Units		Mariakani Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	2,000.00	4,000.00	Serviceable	Public Auction	All
80.3	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001923	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.4	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001918	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.5	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001812	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.6	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001921	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.7	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001919	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.8	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001920	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.9	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001917	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.10	CAMEA ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	CAM 16001922	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.11	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA BF	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.12	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA D3	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.13	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA D6	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.14	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58738 8	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.15	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA D4	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.16	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA D7	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.17	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58BA A3	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.18	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E58A4 B0	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
80.19	AXIS ANPR CAMERA		Mariakani Weighbridge	Not Tagged	Each	ACCC8E5854A 3	1	Unknown	1,800.00	1,800.00	Serviceable	Public Auction	All
										36,100.00			
Lot 81	Assorted Power Units												
81.1	42U SERVER CABINETS		Mariakani Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	10,000.00	20,000.00	le	Public Auction	All
81.2	IR SPEED DOME PTZ CAMREA		Mariakani Weighbridge	Not Tagged	Each	2D014FEPAN0 0028	1	Unknown	4,000.00	4,000.00	Unserviceab le	Public Auction	All

Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks

Lot No

Remarks

Name of the

buyer

Unit Proce total Price

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre
81.3	LECOOL AC OUTDOOR UNIT		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	2,000.00	2,000.00	Unserviceab le	Public Auction	All	
81.4	25 M HIGH MAST STRUCTURE- LIGHTING		Mariakani Weighbridge	Not Tagged	Each	Not Verified	4	Unknown	80,000.00	320,000.00	Unserviceab le	Public Auction	All	
81.5	UNICAM WIM CABINET COMPLETE WITH PATCHPANEL, PSU, WIM UNIT & GIGABIT SWITCH		Mariakani Weighbridge	Not Tagged	Each	16002314	1	Unknown	1,200.00	1,200.00	Unserviceab le	Public Auction	All	
81.6	UNICAM WIM CABINET COMPLETE WITH PATCH PANEL, PSU, WIM UNIT & GIGABIT SWITCH		Mariakani Weighbridge	Not Tagged	Each	16002315	1	Unknown	1,200.00	1,200.00	Unserviceab le	Public Auction	All	
81.7	FIBRE PATCHING WHITE BOX CABINET		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,000.00	1,000.00	Unserviceab le	Public Auction	All	
81.8	UNICAM WIM CABINET COMPLETE WITH PATCH PANEL, PSU, WIM UNIT & GIGABIT SWITCH		Mariakani Weighbridge	Not Tagged	Each	16002315	1	Unknown	1,200.00	1,200.00	Unserviceab le	Public Auction	All	
81.9	NETWORK ORANGE BOX CABINET		Mariakani Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	1,000.00	2,000.00	Unserviceab le	Public Auction	All	
										352,600.00				
												Public		1
81.10	LED VARIABLE MESSAGE SIGNS (VMS) DISPLAY UNIT		Mariakani Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	200.00	400.00	Unserviceab le		All	
81.11	TRAFFIC LIGHT RED&GREEN COMBINATION		Mariakani Weighbridge	Not Tagged	Each	Not Verified	8	Unknown	300.00	2,400.00	Unserviceab le	Public Auction	All	
										2,800.00				ł
Lot 82	Lot 82 : Office Furniture													
82.1	Cabinets		Mariakani Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	600.00	1,200.00	Unserviceab	Public Auction	All	
82.2	Network Cabinet		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00	Unserviceab le		All	
										1,700.00				
Lot 83 83.1	Assorted Scraps Metallic overhead		Mariakani	Not Tagged	Each	Not Verified	2	Unknown	5,000.00	10,000.00	Unserviceab	Public	All	İ
83.2	Gantry		Weighbridge Mariakani						-	4,000.00	le Unserviceab	Auction Public		
	Steel Chain link fence Galvanised steel guard		Weighbridge Mariakani	Not Tagged	Each	Not Verified	400mtrs	Unknown	4,000.00		le Unserviceab	Auction	All	
83.3	rails		Weighbridge Mariakani	Not Tagged	Each	Not Verified	10	Unknown	500.00	5,000.00	le Unserviceab	Auction	All	!
83.4	Green street Light Poles		Weighbridge Mariakani	Not Tagged	Each	Not Verified	10	Unknown	500.00	5,000.00	le Unserviceab	Auction	All	
83.5	Silver street Light Poles		Weighbridge	Not Tagged	Each	Not Verified	32	Unknown	500.00	16,000.00	le	Auction	All	
83.6	Assorted plumbing materials		Mariakani Weighbridge	Not Tagged	Lots	Not Verified	1	Unknown	1,500.00	1,500.00	Unserviceab le	Auction	All	
83.7	Assorted trunking parts		Mariakani Weighbridge	Not Tagged	Lots	Not Verified	1	Unknown	300.00	300.00	Unserviceab le	Auction	All	1
83.8	BOOM BOX		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00	Unserviceab le	Auction	All	
83.9	BOOM BOX		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00	Unserviceab le	Public Auction	All	

Item No	Item Description/ Office	Category	Location	Asset Tag No.	Unit of Issue	Serial No .	Qty	Original Value in kshs	Valuation/ Estimate Unit Price/ (Kshs)	Valuation/ Estimated Total Price (Kshs)	Condition	Method of disposal	Eligibility	Auction Centre	Unit Proce	total Price	Name of the buyer	Lot No	Remarks
83.10	воом вох		Mariakani Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	500.00	500.00	Unserviceab le	Public Auction	All						
										43,300.00									
Lot 84 84.1	Tyres Tyres	Motor Vehicle Accessories	Mariakani Weighbridge	N/A	Lots	N/A	12	Unknown	100.00	1,200.00	Unserviceab	Public Auction	All						
Lot 85	Container	recessories	Weighbridge								ic	Tuction							
85.1	Old police container 20FT		Mariakani Weighbridge	N/A	Each	N/A	1	Unknown	80,000.00	80,000.00	Unserviceab le	Public Auction	PWD						
										81,200.00									
								1											
Lot 86	Office Furniture																		
86.1	Desk cabinets		Busia Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	500.00	1,500.00	broken & worn out	Public Auction	All	Ministry of Roads Building, Kisumu- Kakamega Road, Kakamega					
86.2	Drawers		Busia Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	500.00	1,000.00	worn out	Public Auction	All						<u> </u>
86.3	File cabinet		Busia Weighbridge	Not Tagged	Each	Not Verified	1	Unknown	1,000.00	1,000.00	broken & worn out	Public Auction	All						1
86.4	Office chairs		Busia Weighbridge	Not Tagged	Each	Not Verified	3	Unknown	200.00	600.00	dmaged & worn out	Public Auction	All						<u> </u>
86.5	Office Desk		Busia Weighbridge	Not Tagged	Each	Not Verified	4	Unknown	1,000.00	4,000.00	worn out	Public Auction	All						<u> </u>
86.6	Remote Display Unit		Busia Weighbridge	Not Tagged	Each	Not Verified	2	Unknown	500.00	1,000.00	fault & unserviceab le	Public Auction	All						
86.7	Visitors chairs		Busia Weighbridge	Not Tagged	Each	Not Verified	4	Unknown	200.00	800.00	worn out & damaged	Public Auction	All						
										9,900.00									
		1	1																

KENHA